Missing Numbers

D + 450
640 +( |
() + 210
260 + ()
() + 150
720 +( )
() + 170
880 + (|
() + 79

Fill in the missing numbers

= 500 60 +( )
0 () v s
= 300 70 +( )
= 300 () + 50
= 200 o +( ]
= 800 () + 70
0 s ()
= 900 () + 30
w0 s+ ()

300

700

600

400

400

400

600

500

200
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Missing Numbers

D + 450
640 +
+ 210
260 + (40
+ 150
720 + (80 )
+ 170
880 + (20]
+ 790

Fill in the missing numbers

= 500 60 +

= 700

= 300 70 +

= 300

= 200 10

= 800

= 200 60 +

= 900

= 800 50

+ &0

+ 50

e

+ 70

+ 30

- (=

300

700

600

400

400

400

600

500

200
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